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BOOKS - UNITED BOOK HOUSE

MODEL QUESTION PAPER 3

1. The ratio, of the radii of the first three Bohr orbit in H atom is

Al1:1/2:1/3
B.1:2:3
C.1:4:9

D. 1:8:27.

Answer:



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bRYs71zHxfs0

[ W Watch Video Solution

2. Which of the following is paramagnetic?

A.O-
B. N>
C.0,?

D. Hs.

Answer:

° Watch Video Solution

3. The shape of C'02 molecule is similar to

A. H,O

B. BeF)

C. S0,


https://dl.doubtnut.com/l/_bRYs71zHxfs0
https://dl.doubtnut.com/l/_1kQPmN7qKVEk
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D. none of these.

Answer:

° Watch Video Solution

4. Inert gas has been added to the following equilibrium system at
1
constant volume S0,(g) + 502(9) =2 S05(g) To which direction will
the equilibrium shift?
A. Forward
B. Backward

C. No effect

D. none of these.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hI6VxnUfYu6A
https://dl.doubtnut.com/l/_KIKaUOIxWu4J
https://dl.doubtnut.com/l/_rK07nQn5SJKd

5.The value of gas cosntant R is 8.314 X. Here X represents

A. LatmK ~‘mol !

B. calmol 'K 1

C.Jk 'mol !

D.kJmol 'K !

Answer:

° Watch Video Solution

6. Which among the following is not a state function?

A. Internal energy

B. Free energy

C. work

D. Enthalpy


https://dl.doubtnut.com/l/_rK07nQn5SJKd
https://dl.doubtnut.com/l/_4KZVz9jG55xF

Answer:

° Watch Video Solution

7.

the enthalpy of.formation of NO is

A (2X —2Y)
B.X-Y
C 1 Y - X
D 1 X-Y
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4KZVz9jG55xF
https://dl.doubtnut.com/l/_ZDjr1m6DqeGF

8. Which of the following alkaline earth metal sulphates lias hydration

enthalpy higher than lattice enthalpy?

A. 00504

B. BGSO4

C. BCLSO4

D. S’I"SO4

Answer:

o Watch Video Solution

9. Which is maximum reactive towards water?

A.Li

B. Na

C.K


https://dl.doubtnut.com/l/_OvWllK3dSCcT
https://dl.doubtnut.com/l/_9BZXjWwrXOPy

D.Rb

Answer:

° Watch Video Solution

10. Find out the molecule among the following which is linear?

A.CH;— CH,— CH,— CH,

B.CHs— CH = CH— CHj

C.CH;—C = (C—CH;

Answer:

° Watch Video Solution

11. Which of the following species cannot act as a celectrophile?


https://dl.doubtnut.com/l/_9BZXjWwrXOPy
https://dl.doubtnut.com/l/_4sugoT6NRbA4
https://dl.doubtnut.com/l/_hh1AFA93NgRR

Answer:

o Watch Video Solution

12. Which of the reagents can be used to differentiate between 1-Butyne
and 2-Butyne?

A B’I"Q /(Cl4

B.H 2//Pd-BaSO 4'

C.dil.LH, SO,

D. C’UQCI2, NH4OH

Answer:


https://dl.doubtnut.com/l/_hh1AFA93NgRR
https://dl.doubtnut.com/l/_s9elJBqcoAmA

° Watch Video Solution

13. Which of the following reagents converts carbonyl compounds into
hydrocarbon

A.H, /Pt

B. LiAlH,

C. K20T207 /H2504

D.Zn — Hg/HCI

Answer:

° Watch Video Solution

14. Acid rain does not contain

A.H,COs

B. HNO;


https://dl.doubtnut.com/l/_s9elJBqcoAmA
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C. CH;COOH

D. H, S0,

Answer:

° Watch Video Solution

15. Calculate the relative equivalent weight of copper in cuprous oxide

° Watch Video Solution

16. Mention the name of the s-block element which is placed' along with

p-block elements..

o Watch Video Solution

17. Write general electronic configuration of actinoids ?

| ° Wiak~h \NdAA CAliikian
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18. Volume of a substance is an-property and molar .volume of a

substance is an -property of the system.

° Watch Video Solution

19. Identify A.... G in the following reaction sequence.

1) O
C L Glyoxal + Formaldehyde
(ii) Zn | HyO

o Watch Video Solution

20. How will you distinguish between each to the given pairs of
compounds by a single chemical test ?

1-butene and 2-butene

o Watch Video Solution



https://dl.doubtnut.com/l/_Clxvs7KG3NvU
https://dl.doubtnut.com/l/_M0jF1Ikp3eUE
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21. What is the mass of 1 million of ammonia? Also find the number of

ammonia molecules presents in it.

° Watch Video Solution

22. Show that, the relation between kinetic energy and the de-broglie

wavelength associated with a moving electron is X =

h
\/§mE

o Watch Video Solution

23. d subshell can accomodate a maximum of 10 electrons’-Justify this

statement.

° Watch Video Solution

24.Explain— Boron is unable to form BF63_ ion.

° Watch Video Solution



https://dl.doubtnut.com/l/_aaduQ3XqShjA
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25.What are fullerenes? How are they prepared?

° Watch Video Solution

26. Name IUPAC name of the following :

!CH1=CH—-C'—%! =CH
o

° Watch Video Solution



https://dl.doubtnut.com/l/_HZsXOZyjWn3c
https://dl.doubtnut.com/l/_Qjn62TplPu2e
https://dl.doubtnut.com/l/_wOLmhUMGiB10

27.Name IUPAC name of the following :

° Watch Video Solution

28. Identify  electrophilic  centre in the  following

CHgCHO and CHgCN

° Watch Video Solution



https://dl.doubtnut.com/l/_sqiBlOhMJ9ty
https://dl.doubtnut.com/l/_uhQjN9mhuLEo
https://dl.doubtnut.com/l/_sFybHmf6PvVy

29. Name two components of photochemical smog and mention one.of

the harmful effects of this smog.

° Watch Video Solution

30. An atom of an element contains 2. 8 and 5 electrons in K, L and M
shell respectively. Find out :- total number of electrons in 'S’and ‘P*-

orbitals,

° Watch Video Solution

31. An atom of an element contains 2. 8 and 5 electrons in K, L and M shell

respectively. Find out :- valency of the element.

° Watch Video Solution

32. 2nd lonisation potential of oxygen is greater than 2nd ionisation

potential of Nitrogen— Explain.


https://dl.doubtnut.com/l/_sFybHmf6PvVy
https://dl.doubtnut.com/l/_picQvFHoo7aN
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o Watch Video Solution

33. What is transitional element.

° Watch Video Solution

34. Atomic number of three elements A. B and C are 10, 13 and 17

respectively:- Find their positions in the periodic table

° Watch Video Solution

35. Atomic number of three elements A. B and C are 10, 13 and 17

respectively:- which one of them will term cation and which one an'anion?

o Watch Video Solution



https://dl.doubtnut.com/l/_Wyws5jdIofi1
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36. Atomic number of three elements A. B and C are 10, 13 and 17

respectively:-Mention their valences.

o Watch Video Solution

37.Why Cl; molecule exists but not Ne; molecule.

o Watch Video Solution

38. Give an example of a molecule which violets octet rule.

o Watch Video Solution

39. Between N,O and NO;, molecules which one is more polar? Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_GIxGye8RBnZb
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40. Mention the state of hybridasation of the .central atom in the

following molecules//ions : ‘BeCl 2, NH 4+.

° Watch Video Solution

41. Calculate the total pressure in a mixture of 8g of oxygen and 4 g of
hydrogen confined in a vessel of Idm® at 27°C

R = 008~ dms. k ‘mol !
[

° Watch Video Solution

42. What property of molecules of real gases is indicated by van der

Waal’s constant @’?

° Watch Video Solution

43. State and explain the first law of thermodynamics.
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| o Watch Video Solution

44. Deduce the relation between enthalpy and internal energy for

gaseous system:

o Watch Video Solution

45, Write one equation where AH, = AFE.

o Watch Video Solution

46. In the reaction, A — B+ C,AH =25kJm or ! and
AS = 62.5JK ~'. At which temperature .the reaction will occur

spontaneously at constant pressure...

o Watch Video Solution



https://dl.doubtnut.com/l/_0GXalFL39a6o
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47.What is the oxidation number of ‘P atom in K, P,O molecule?

o Watch Video Solution

48. Balence the following chemical equation by oxidation numbermethod

:Cu + HN03 — CU(N03)2 + N02 + HQO

° Watch Video Solution

49. Balence the following chemical equation by ion-electron method:

MnO, + HCL — Mn** + Cl, + H,0

° Watch Video Solution

50. What is the change in oxidation number of manganese in the

reduction of KMnQO, to MnSO4?

° Watch Video Solution



https://dl.doubtnut.com/l/_GDwH17yk1lIF
https://dl.doubtnut.com/l/_lIypiULaTWBo
https://dl.doubtnut.com/l/_wLlrCfj1wrKu
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51. How does H50- behaves as a bleaching agent?

° Watch Video Solution

52. Complete the following reactions:

CO(g)+ H,(g) _é

catalyst

0 Watch Video Solution

53. Potassium carbonate cannot be prepared by Solvey Process -explain.

0 Watch Video Solution

54.Water glass is

o Watch Video Solution
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55. What is ‘slaked lime’?

° Watch Video Solution

56. Ariange Be(OH),, Ba(OH), and Ca(OH), inordcr of increasing

solubility in water and explain the order,

o Watch Video Solution

57.The bond dissociation enthalpy of C¢ H;C Hy,— H bond is much less

than CH3H bond— explain.

° Watch Video Solution

58. Give a example of neutral electrophile

° Watch Video Solution
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59. How will you detect the. presence of sulphur in an organic

compound?

o Watch Video Solution

60.C' = C bond length is shorter than C = C and C— C bond lengths

— Why?

° Watch Video Solution

61. The solubility of zinc phosphate in water is S mol LT Derive the

mathematical expression of solubility product of the compound.

o Watch Video Solution

62. What is common ion effect? Cite an example.

o Watch Video Solution
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63. Write the conjugate base of [Al(H,0)] i

° Watch Video Solution

64. The following equilibrium is established during thermal dissociation
of HyO(g) in a closed vessel H,O(g) &= Hy(g) + 1/20,(g)If the total

pressure, equilibrium constant and degree of dissociation is 'P',/K P’ and
23/2pl/2
1—2z)(2+z)

X, then show that, Kp =

[

° Watch Video Solution

65. If the equilibrium constants of the following equilibriam
1
S02 + 502 — S0O3 and 2503 — 2502 + 02 are K; and K Which

shows the correct relation between K7 and K>

o Watch Video Solution
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66. What happens when

Aluminium is treated with dilute NaOH.

o Watch Video Solution

67. What happens when :-Silicon dioxide is treated with hydrogen

fluoride.

0 Watch Video Solution

68. Explain : Carbon shows catenation but silicon does not.

0 Watch Video Solution

69. Draw the shape of B2 Hg molecule.

0 Watch Video Solution
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70. How will you distinguish between each of the following pairs of

compounds by a single chemical test :-Ethylene and acetylene

° Watch Video Solution

71. How will you distinguish between each of the following pairs of

compounds by a single chemical test :- Benzene and Cyclohexene.

° Watch Video Solution

72. How will you carry out of the following trannsformations :-

H

—

° Watch Video Solution
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73.How will you carry out of the following trannsformations :-

HC=CH — CH;4 ——lﬁ—'{;‘H3
& Ou

° Watch Video Solution

74.Electrophile used in the nitration of benzene is

° Watch Video Solution

75. Give,example of the following reactions :-Gattermann aldehyde

synthesis

o Watch Video Solution

76. Give,example of the following reactions :-Kolbe electrolysis method.

° Watch Video Solution
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77. How can thiophene present in a sample of impure benzene be

identified ? How can this thiophene be removed ?

° Watch Video Solution
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